I Instructions of Safety and Warnings:
« Any failure to comply with the safety and installation instructions in this manual may cause serious bodily injury.

« Overlooking any part of the instructions, warnings and additional information marked with the "Note"” and "
may result in serious damage to the system or its components.

« Children should never be allowed to operate or touch the product without direct supervision of an adult. Users
should prevent children from being near or around the desk during operation.

« Disabilities and/or lack of experience and knowledge should be prevented from using the product unless under
supervision or assisted during use and operation.

* Never sit on or exceed the rated weight of the desk.

A Electrical Safety Instructions:

The product is powered by electricity. In order to avoid burns, fire and electric shock, please read the
instructions carefully.

Don't clean the product with water Never operate the system if it's in moist
E @ while the power is still connected. environment or its electrical components

have contact with liquids.

while the power is still connected. makes noise or odor.
Alterations of the given power unit and
control box aren't allowed.

E Don't disassemble or replace components Don't operate the system if the control box

Never operate the system with a damaged cord
or plug. Please contact your point of purchase to
replace the damaged parts.

A Other Safety Instructions:

CAUTION

* Remove any obstacles from the area around the desk during assembly and subsequent use.
» Organize all cords and wires to prevent any possible tripping or accidents from occurring.

* Never attempt to modify or change the desk frame or components that operate the desk.

» Don't add anything to the adjustable junctions of the desk frame.

* The desk is rated for Indoor Use Only.

Disposal: The product with this mark indicates that this product shouldn't be disposed with other household

E\/ wastes . To prevent possible harm to the environment or human health from uncontrolled

mmm \aste disposal, recycle it responsibly to promote the sustainable reuse of material resources. To return your
used device, please use the local recycle service or contact your point of purchase to withdraw the product.

INSTRUCTION MANUAL

HYPERWORK APEX

HPW-DPO2

6. Connecting Cords

« Connect the Controllermwith the AC Adapter@as shown.

« Connect the Controller with 2 Lifting Columns. Use the Power Cableo
for the Lifting Column on the far side.

« Insert the Power Plug o into the AC Adapter.

Note:
* Do not plug into the power before the desk is fully assembled.

7. Attaching the AC Adapter

« Attach AC Adapter onto desktop using Screw@ .

8. Attaching the Controller

« Attach the Controller to the desktop using
Screws

9. Cable Management

* Run the cables through the Cable Clips@ and attach
the Cable Clips to the desktop with Screws@ to

ensure clean and neat surface.

/]L““““

10. Adjusting the Desk

« Turn over the desk with the help of another person.

* There are two adjustable foot pads under each foot. If the floor isn't even, simply turn the pad to adjust the level to
make the desk stable.
Tip: Use a bubble feve! (not inciuded) to check if the desktop is even.

* Using the desk for the first time, you will need to reset the system. Please refer to Digital Control Panel User Guide.

CAUTION: At least two people are required when turning over
the desk, or serious bodily injuries might occur.




I Checklist and Installation

Please check all of the components shown in the component checklist. If any of the components are missing or damaged,
contact your point of purchase for a replacement.

\ \I

A (x2) B (x2) C (x2)
Crossbar Rail Left Crossbar Right Crossbar

D (x2) E (x2) F (x2)
Side Bracket Lifting Column Foot

i =
— >
T4
E—
G (x1) H (x1) 1 (x1) J(xn)
AC Adapter Controller Power Cable Power Plug
S-A (x4) S-B (x16) S-C (x8) S-D (x7) S-E (x12)
M6x10 M6x12 M6x16 ST4.2x16 ST4.2x16
Socket Head Hex Head Hex Head Phillips Head Phillips Head
Screw Screw Screw Screw Screw

2. Attaching the Side Brackets

* Attach Side Bracket@to the Lifting Column using Screws @
 Attach 6 Anti-Vibration Pads@ to the crossbars and Side Bracket 0 as shown below.
* Repeat the same process to attach the other side bracket.

= [ —

S-F (x12) S-G (x3) S-H (x1)
Anti-Vibration Pad Cable Clip 4mm Allen Wrench

What important specifications Z& E’

should know before installation? Power Input Operation Temperature Weight Capacity
(100~240V) (-5°C~+40°C) 100kg (220lbs)

What tools are needed to [T -l l é

assemble the desk frame?
Bubble Level Allen Wrench Drill
(Notincluded) (Included) (Notincluded)

3. Attaching the Feet

« Attaching the Footeto the Lifting Column using Screws .
* Repeat the same process to attach the other foot.

1. Attaching the Crossbars
* Use Allen Wrench@ to tighten Screws @

3mm£?

4. Adjusting the Frame and Attaching the Crossbar Rail

« Carefully place the desktop (not included) upside down on the blanket/floor.

* Place the legs one on each side of the top as shown below.

» Adjust the crossbar to the size of the desktop. Ensure that the frame is placed in the center of the desktop.
« Attach the Crossbar Rails as shown below.

« Secure the frame using Screws

« Tighten the screws on the crossbar.

Shipping Blanket

* Secure the crossbar using Screws @ and tighten all the screws on the crossbar.
* Repeat the same process to attach the other two crossbars on the other side.

5. Drilling to the Desktop

« Attaching the assembled desk frame to the desktop through the mounting holes
found on the Side Brackets and Crossbars as shown in the illustration using
Screws

D

i ]

.
(LY

ARt ]
3 --3-----enl
i -9

ool e




1 HUGNG DAN AN TOAN VA CANH BAO:

o Viéckhdng tuan thii cac hudng dan an toan va I3p dit trong tai liéu nay cé thé gay thuong tich nghiém trong.

o B0 qua b3t ky phan nao trong cac hudng dan, canh bao va thdng tin bd sung dude danh dau bang “Luuy” va “ /1. " cd thé
gay huhong nghiém trong cho hé thdng hodc cac bd phan clia san pham.

o Tré emkhong dudc phép van hanh hodc cham vao san pham néu khdng cé su gidm sat tryc tiép clia ngudildn. Ngudi dung
nén dam bao tré em khdng 8 gan hodc xung quanh ban trong khi dang van hanh.

o Ngudikhuyét tat va/hodc thiéu kinh nghiém, kién thiic khdng nén st dung san pham néu khdng cé su gidm sat hoic hé trg
trong qua trinh stt dung.

¢ Khdngngdilénhodc vugt qua tai trong dinh mic ctia ban.

i. HUGNG DAN AN TOAN VE DIEN

San pham dudc cap ngudn bang dién. D& tranh bi bdng, chay hoic dién giat, vuilong doc ky hudng dan dudi day:

HUGNG DAN LAP DAT

HYPERWORK APEX

HPW-DPO2

Khénglau rlfa san pham bang nudc Khong van hanh hé théng néu méi trudng am udt
& Z khivan dang két néi dién. hodc cac bd phan dién ti€p xdc vai chatdng.
Khéng thao r@i hodc thay thé linh kién khi ))):(? Khéng van hanh hé théng néu hdp diéu khién phatra
ngudn dién van dugc két ndi. C tiéng 6n hodc muila.
Viéc thay d6i bé diéu khién hodc nguén dién khéng dudc phép.
OC-) Khéng st dung hé thdng véi day dién hoac ~N
phich cidm bihu hong. ~N—
Vuildng lién hé ndi mua dé thay thé bé phan bihdng.
~NL—
” X . I3
. HUONG DAN AN TOAN KHAC:
o Loaibod moivat can xung quanh ban trong qué trinh 13p rdp va st dung.
o S3pxép day cap va day dién gon gang dé tranh vudng viu ho3c gay tainan.
o Khdng c8 géng thay déi hoic diéu chinh khung ban hay céc bé phan diéu khién ban.
o Khonglap thém bat ky thit givao cac khdp diéu chinh clia khung ban. N
e Banchidugc thiét ké st dung trong nha.
N
'’ XULY SAN PHAM
San pham cé ky hiéu nay cho biét khéng nén xtf Iy cling véi rac thai sinh hoat khac. Dé tranh gay hai
cho méi trudng hodc stic khde con ngusi do xt Iy rac thai khdng kiém soat, hay tai ché sdn phdm mét cach co
trach nhiém dé thiic dy viéc st dung bén viing céc ngudn tai nguyén. D8 tra lai san phdm da qua stt dung, vuilong
st dung dich vu téi ché tai dia phuang hoac lién hé ndi mua dé dugc hudng dan.
~ ~y ~ N - ~ ey - k] ” ~ 14
6. Keétnoiday dien 8. Ganbo diéu khién 9. Quanly day cap
+ K&tndibo diéu khién @) voi bd dst"gu‘é” (G) ) - Dung vit €B) dé ¢ dinh diéu khién vao mét ban. + Luén day qua kep @O va cd dinhbing
« K&t ndi hai cot nang vai bd diéu khién bang day nguén o vit @ dégongang.
- DUng phich ca3m o k&t ndivao bd déingudn.
**[u y:** Khdng cam dién trudc khilap hoan chinh.
| N
X
~
- k] -
10. biéu chinh ban
« Lat lai ban véi sy hd trg clia mét ngudi khac.
« Diéu chinh cac miéng dém dudi chan dé ban can bang.
- Dung thudc canbang dé kiémtra.
« Khi st dung ban 13n dau, ban cén thiét 13p lai hé thdng. Vuilong tham khao - Hudng dan st dung bang diéu khién
a kémtrong hép
**Canh bdo:** Can it nhat 2 ngudi dé trénh chan thudng khi 4t ban.
N J

7. Ganbo ddingudn
- Ding vit @) dé c8 dinh bd d&ingudn mét ban.




I Kiém Tra Thanh Phan va Lap Dat

Vuildng kiém tra tat ca cac bd phan dudc liét ké bén dugdi. Néu thiéu hodc hdng, hay lién hé ngi mua dé dugc thay thé.

\ h\l

A (x2) B (x2) C (x2)
Thanh ngang trén Thanh ngang trai Thanh ngang phai

\

D (x2) E (x2) F (x2)
Giadd bén Codtnang Chandé

G (x1) H (x1) 1 (x1) J(x1)
B& ddingudn Bo diéu khién Day ngudn Phich cdm dién

& o>

2. Gangiaddbén

- Gangia ddbén @) vao cotnang bang vit G

« Dan miéng dém chéng rung @ vao thanh ngang va gia d3 nhu minh hoa
« Lap lai cho phia con lai.

S-A (x4) S-B (x16) S-C (x8) S-D (x7) S-E (x12)

M6x10 M6x12 M6x16 ST4.2x16 ST4.2x16
S-F (x12) S-G (x3) S-H (x1)

Dém chdngrung Gilrday Luc gidc 4mm

Cécthdng sG quan trong Z& E’
cén biét trudc khilap dat? Diénap Nhiét dd hoat déng Taitrong
(100-240V) (-5°C~+40°C) 100kg (220lbs)

Can nhitng dung cu gi g @
dél3p khung ban?
Thudc canbang Luc gidc May khoan, bat vit
(Khéng dikem) (Bikém) (Khéng dikem)

3.Ganchandé

- Ganchan dé (@ vao ct nang bing vit C®
« Lap laicho chanconlai.

1. Lép thanh ngang

+ Strdung lyc gisc @IP) désistvit @), ILuuy khdng vin hét toan bs, délai
1khoang hd~3mm phuc vu cho budc lap dat tiép theo, gan thanh chiu lyc
ctakhungban.

3mm£?

a

* Ganthanhngang tréi @ va phai G vao cét nang G nhu hinh.

« C&dinhthanh ngang bing 8¢ @) va siét chit tat ca cac Sc trén thanhngang.
* L&p lai quy trinh tudng tu dé Iap hai thanh ngang con lai & phia bén kia.

4. biéu chinh khung & gén thanh ngang trén

« D3t mat ban (khéng kém theo) ip xudng nén/mén.

« Dat hai khung chan vao haibén.

« Diéu chinh thanh ngang sao cho vita véi mét ban va nam gitia.
- Ganthanhngang trén @) nhu hinh.

- Dung vit @) dé c& dinh khung.

\ v

TamIét, mén...

L
T :
i &
5. Gankhunglén matban
« Gan khung vao mat ban bang cac 16 bat sin trén gia dd bén va thanh ngang,
dung vit @ nhu minh hoa.
L ]
"
1 UL Y
' ' - N
| = !
; &
i

ool e




